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Solve and graph on a number line.
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My math instructor assigns our course grade based solely on our scores from 4 exams, each of which are worth 100 pts.  What must I score on the 4th exam to earn a B (80% to 89%) letter grade for the course if my first 3 exam scores are: 78, 92, 71.

Plot the point 
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Determine the quadrant in which the point 
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Determine the slope of the line passing through the points 
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Determine the slope of the line passing through the points 
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Are the lines 
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 parallel, perpendicular, or neither?
Sketch the graph of:
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Determine the x-intercept and y-intercept of:
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Convert the equation of the line 
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 to slope-intercept form.
Convert the equation of the line 
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 to standard form.

Determine the equation of the line:

Passing through the points
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Passing through the point
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and perpendicular to the line 
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Passing through the points
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Solve for x and y:
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Solve using substitution: 
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The Addition Method

Solve using elimination 
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Graph 
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Simplify
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Perform the indicated operations:
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Find the quotient and remainder attained by performing long division.
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A. Greatest Common Factor
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B.  Difference of Squares
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C.   Grouping 
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D.  Trinomials (AC Method or Trial and Error)
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E.  Combination/Prime
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Simplify:
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Perform the indicated operation:
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Simplify the complex fraction:
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Simplify:
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Rewrite:
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Solve:
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Simplify:
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Rationalize the denominator:


[image: image50.wmf]2

6

23

32

-

-


Solve 
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Find the distance between the points 
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Solve by the indicated method.
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by principal square root
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by the quadratic formula
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by factoring
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by completing the square  (Time Permitting)
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Solving Equations that lead to quadratic equations:
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By finding the x-y intercepts

By finding the line of symmetry

By finding the vertex
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